

Central Hudson Bill Basics

Basic Service Charge

- Fixed
- Same Dollar amount for each month

Demand Charge

- Variable
- \$ / kW
- Certain nonresidential customers only

Usage Charge

- Variable
- \$ / kWh
- Residential and most non-residential customers larger Industrial are not charged

Usage Charge includes:

- Central Hudson Charge (Delivery)
- Non Central Hudson Charges
 - Supply (Market Price, Market Price Adjust, Misc, PPA)
 - Government: NYS Assessment, Taxes, SBC/RPS



Net Metering Billing Basics

Residential and Non-Demand Commercial

- Usage Charges (per kWh) will net.
- Credits will be carried in kWh to the next billing cycle.
- Check will be issued to a residential customer on anniversary month of the effective date of Net metering or a customer One Time Elected month that coincides with the customer's meter reading schedule for Supply component of usage charges. Payment is based on the NYISO Real Time Price Monthly Average

 Time of Use (TOU) Residential is the same as residential except on and off peak net separately

 Non-Demand Customers do not have a reconciliation period. Generation will continue to roll to the next bill

Note: These types of bills will never be \$0 because there will always be basic service charge.



Net Metering Billing Basics <u>Demand Commercial</u>

- Usage Charges (per kWh) will net.
- Demand Charge (per kW) will not net.
- Credits in kWh converted to \$ and used to offset bill.
- Additional excess will be converted back to kWh and carried to the next billing cycle.
- No check will ever be issued.

Note: A demand commercial bill CAN be \$0.



What's on the Bill

 Under the "What's New" Section will be a line showing Current Gen/Usg. & YTD Gen

 If a customer generates, the index shown on the bill will be the same index as previous bill. This is so no usage charges are calculated



E100 Generation Bill

Central Hudson

A FERTIS COMPANY

284 SOUTH AVENUE
POUGHKEEPSIE NY 12601-4839

www.CentralHudson.com

Account Number:

Service For:

80 80

Page 1 of 2

Questions About Your Bill? See the reverse side for explanations. For further help call a Customer Service Representative at 845-452-2700 or 1-800-527-2714. Our phone lines are busiest Monday and Tuesday mornings. We can better respond to your call if you avoid these times.

Your Bill Summan	ry At A Glance	
Previous Billed Amount		\$49.08
Payments Since Last Bill - THAN	NK YOU!	\$-49.08
Current Electric Charges		\$49.08
Total Amount Due Now		\$49.08
Current Billing Period	Aug 29,2014	- Oct 29,2014
Late Charges Added After		Dec 01,2014
Next Scheduled Reading Date		Jan 07,2015
	This Year	Last Year
Electric Usage	0 kWh	2145 kWh
Heating Degree Days	368	473

Payments and Adjustments

PAYMENT RECEIVED ELECTRONICALLY

SEP 26

\$-49.08

What's New...

MOST HOME HEATING SYSTEMS WILL SOON BE RESTARTED AFTER BEING IDLE FOR MONTHS, RAISING THE POSSIBILITY OF CARBON MONOXIDE POISONING. NO MATTER WHAT TYPE OF HEATING SYSTEM YOU HAVE, BE SURE IT IS PROFESSIONALLY SERVICED ON A REGULAR BASIS AND BE SURE YOUR CHIMNEY & EXHAUST-WAYS ARE CLEAR TOO. NET-METERED ACCOUNT STATUS

CURRENT GENERATION 292 KWH, YTD GENERATION 4562 KWH



E100 Generation Bill Continued



Page 2 of 2

Message Center

Did You Know ?

This winter's severe cold caused customers to use more energy for their heating systems. Higher demand for energy & increased usage will result in higher gas & electric bills. Call us at 1-800-527-2714 to enroll in monthly billing or for payment assistance.

Electric Meter

RATE E100 NON HEATING

Electric Service Charges 0 kWh at a cost of \$49.08

Average Daily Cost for Electric \$0.8046

Amount of Electricity Used

Oct 29,2014 Present Reading (act.) Aug 29,2014 Previous Reading(act.) Electricity Used(kWh)

195

Cost for Electricity Used (for 2.0 months)

Basic Service Charge 2.0 Mos @ 24.00 48.00 NYS & Local Taxes and Surcharges 1.08 TOTAL ELECTRICITY COST \$49.08



E100 Usage



Account Number:

Service For:

Page 1 of 2

60 60

Questions About Your Bill? See the reverse side for explanations. For further help call a Customer Service Representative at 845-452-2700 or 1-800-527-2714. Our phone lines are busiest Monday and Tuesday mornings. We can better respond to your call if you avoid these times.

Your Bill Summa	ry At A Glance	
Previous Billed Amount		\$49.00
Payments Since Last Bill - THA	NK YOU!	¢-49.00
Current Electric Charges		\$202.16
Total Amount Due Now		\$202.16
Current Billing Period	Nov 24,2014	- Jan 28,2015
Late Charges Added After		Feb 26,2015
Next Scheduled Reading Date		Mar 31,2015
	This Year	Last Year
Electric Usage	1105 kWh	2482 kWh
Heating Degree Days	2181	2356

Payments and Adjustments

PAYMENT RECEIVED BY DIRECT PAY D

DEC 19

\$-49.00

What's New...

HEAP ASSISTANCE IS AVAILABLE FOR ELIGIBLE HOUSEHOLDS TO HELP PAY HEATING BILLS. INFORMATION CAN BE FOUND ON-LINE AT MYBENEFITS.NY.GOV OR AT WWW.CENTRALHUDSON.COM. APPLY FOR A GRANT AT YOUR LOCAL DEPARTMENT OF SOCIAL SERVICES OR OFFICE FOR THE AGING FOR SENIOR HOUSEHOLDS.

NET-METERED ACCOUNT STATUS

CURRENT USAGE 578 KWH, YTD NET GENERATION 0 KWH



E100 Usage Continued



Page 2 of 2

Message Center

Did You Know ?

This winter's severe cold caused customers to use more energy for their heating systems. Higher demand for energy & increased usage will result in higher gas & electric bills. Call us at 1-800-527-2714 to enroll in monthly billing or for payment assistance.

Electric Meter # RATE E100 NON HEATING

Electric Service Charges 1105 kWh at a cost of \$202.16

Average Daily Cost for Electric \$3.1102

Amount of Electricity Used

Jan 28,2015 Present Reading (act.) 5679
Nov 24,2014 Previous Reading (act.) 4574
Electricity Used (kWh) 1105

Cost for Electricity Used (for 2.0 months)

ENERGY DELIVERY CHARGES:

ENERGI DELIVERI CHARGES:					
Basic Service Charge	2.0	Mos	0	24.00	48.00
Delivery Svc Chg	1105	kWh	0	0.04963	54.84
MFC Admin Chg	1105	kWh	@	0.00183	2.02
Transition Adj	1105	kWh	0	0.00017	0.19
SBC/RPS Chgs	1105	kWh	0	0.00850	9.39
Purch. Power Adj	1105	kWh	@	-0.00004	-0.04
Misc. Charges	1105	kWh	@	-0.00650	-7.18
NYS Assessment	1105	kWh	@	0.00210	2.32
RDM Chg	1105	kWh	0	-0.00283	-3.13
Total Delivery Chrgs					106.41
PMPDCV SHIDDLY CHADGES.					

ENERGY SUPPLY CHARGES:

(You may choose another supplier for this part of your service)
MFC Supply Chg 1105 kWh @ 0.00207 2.29



E600 Residential Time of Use (TOU)

Central Hudson

A FORTIS COMPANY

284 SOUTH AVENUE
POUGHKEEPSIE NY 12601-4839

www.CentralHudson.com

Account Number:

Service For:

60 55

Page 1 of 2

Questions About Your Bill? See the reverse side for explanations. For further help call a Customer Service Representative at 845-452-2700 or 1-800-527-2714. Our phone lines are busiest Monday and Tuesday mornings. We can better respond to your call if you avoid these times.

Your Bill Summary At A Glance	
Previous Billed Amount	\$-838.32
Payments Since Last Bill - THANK YOU!	\$-200.00
Current Electric Charges	\$178.85
Total Amount Due Now	\$-859.47
Current Billing Period Dec 02,2014	- Feb 02,2015
Next Scheduled Reading Date	Apr 08,2015

On Peak Usage Applied/(Generation)	259 kWh	175 kWh
Total On Peak Generation Banked	(1807) kWh	(2109) kWh
Off Peak Usage/(Generation)	1044 kWh	892 kWh
Total Off Peak Generation Banked	0 kWh	0 kWh

This Year

Payments and Adjustments

PAYMENT RECEIVED

DEC 24

\$-200.00

What's New...

HEAP ASSISTANCE IS AVAILABLE FOR ELIGIBLE HOUSEHOLDS TO HELP PAY HEATING BILLS. INFORMATION CAN BE FOUND ON-LINE AT MYBENEFITS.NY.GOV OR AT WWW.CENTRALHUDSON.COM. APPLY FOR A GRANT AT YOUR LOCAL DEPARTMENT OF SOCIAL SERVICES OR OFFICE FOR THE AGING FOR SENIOR HOUSEHOLDS.



E600 Residential TOU Continued

Electric	Mete	er# RATE E	600 N	ION	HI	EATING		
	Electri	ic Service Charges 1044 kW	n at a	cos	st	of \$178.85		
		Average Daily Cost for El	ectric	\$2	.88	47		
	Amount	of Electricity Used						
		On-Peak	Or	-Pea	ak (08)	Off-Peak (100%)	
						kWh	kWh	
Feb 02,20	15	Present Reading (act.)			99	5697	9183	
Dec 02,20	14	Previous Reading(act.)			99	5697	8139	
		Electricity Used				0	1044	
	Cost fo	or Electricity Used (for	2.0 m	ontl	ıs)			
		ENERGY DELIVERY CHARGES:						
		Basic Service Charge	2.0	Mos	0	27.00	54.00	
		SBC/RPS Chgs	1044	kWh	9	0.00850	8.87	
		Purch. Power Adj	1044	kWh	0	-0.00005	-0.05	
		Misc. Charges	1044	kWh	@	-0.00650	-6.79	
		NYS Assessment	1044	kWh	@	0.00210	2.19	
		RDM Chg	1044	kWh	9	-0.00060	-0.63	
		Off-Peak:						
		Delivery Svc Chg	1044	kWh	0	0.04022	41.99	
		MFC Admin Chg	1044	kWh	@	0.00078	0.81	
		Transition Adj	1044	kWh	0	0.00007	0.07	
		Total Delivery Chrgs					100.46	
		MFC Supply Chg	1044	kWh	0	0.00087	0.91	
		Market Price	1044	kWh	9	0.06763	70.61	
		Market Price Adj	1044	kWh	0	0.00411	4.29	
		Total Supply Chrgs					75.81	
		NYS & Local Taxes and Sur	charge	23			2.58	
		TOTAL ELECTRICITY COST					\$178.85	
		For this billing period,	the av	rera	ge	cost of en	ergy we	
		purchased for you was \$0	.07261	per	c k	Wh (exclud	ing taxes).	
		You can use this number t	o comp	are	ou	r price to	other	
		suppliers' prices.						



E200 Generation



Account Number:

Service For:

Questions About Your Bill? See the reverse side for explanations. For further help call a Customer Service Representative at 845-452-2700 or 1-800-527-2714. Our phone lines are busiest Monday and Tuesday mornings. We can better respond to your call if you avoid these times.

Summary At A Glance	
\$0	.00
- THANK YOU! \$0	.00
\$180	.89
\$-180	.89
\$0	.00
Jan 08,2015 - Feb 10,2	015
Mar 12,2	015
This Year Last Y	ear
1340 1289	
	\$0 THANK YOU! \$0 \$180 \$-180 \$-180 \$0 Jan 08,2015 - Feb 10,2 Mar 12,2 This Year Last Y

Page 1 of 2

Payments and Adjustments

GENERATION CREDIT FOR 1605 KWH

FEB 11

\$-180.89

What's New...

HEAP ASSISTANCE IS AVAILABLE FOR ELIGIBLE HOUSEHOLDS TO HELP PAY HEATING BILLS. INFORMATION CAN BE FOUND ON-LINE AT MYBENEFITS.NY.GOV OR AT WWW.CENTRALHUDSON.COM. APPLY FOR A GRANT AT YOUR LOCAL DEPARTMENT OF SOCIAL SERVICES OR OFFICE FOR THE AGING FOR SENIOR HOUSEHOLDS.

NET-METERED ACCOUNT STATUS

CURRENT GENERATION 1752 KWH, REMAINING BALANCE 19282 KWH





E200 Generation Continued

Flactuia	M-4 #	DATE FOO	CENEDAL	000//00		
Electric	Meter #) GENERAL			
	Electric Service Cha	irges 0 kWh at a	a cost of \$18	80.89		
	Average Daily	Cost for Elect	tric \$5.4815			
	Amount of Electricit	y Used				
	NET MTR INDEX	RESET	kv	7h	KW	
Feb 10,20	15 Present Readi	ng (act.)	87853	39	844.78	
Jan 08,20	15 Previous Read	ling(act.)	87853	19	834.46	
	Electricity U	Jsed		0	10.3	
	Cost for Electricity	Used (for 1.	.0 months)			
	ENERGY DELIVE	RY CHARGES:				
	Basic Serv	vice Charge 1	l.O Mos @	84.00	84.00	
	Demand Delive	ry Charges:				
	Delivery S	Svc Chg 10.3	KW @ 8.100	X 1.0	83.43	
	NYS & Local T	axes and Surcha	arges		0.06	
	Sales Tax		@	8.000%	13.40	
	TOTAL ELECTRI	CITY COST			\$180.89	



E200 Usage

people. Power. Possibilities 284 SOUTH AVENUE POUGHKEEPSIE NY 12601-4839 www.CentralHudson.com

Account Number:

Service For:

60 60

Page 1 of 2

Questions About Your Bill? See the reverse side for explanations. For further help call a Customer Service Representative at 845-452-2700 or 1-800-527-2714. Our phone lines are busiest Monday and Tuesday mornings. We can better respond to your call if you avoid these times.

Previous Billed Amount	\$620.62
Payments Since Last Bill - THANK YOU!	\$-620.62
Current Electric Charges	\$412.39
Total Amount Due Now	\$412.39
Current Billing Period Jan 0	7,2015 - Feb 05,2015
Late Charges Added After	Mar 06,2015
Next Scheduled Reading Date	Mar 11,2015
This Y	Year Last Year
Heating Degree Days 1179	1094

Payments and Adjustments

PAYMENT RECEIVED BY DIRECT PAY

FEB 5

\$-620.62

What's New...

HEAP ASSISTANCE IS AVAILABLE FOR ELIGIBLE HOUSEHOLDS TO HELP PAY HEATING BILLS. INFORMATION CAN BE FOUND ON-LINE AT MYBENEFITS.NY.GOV OR AT WWW.CENTRALHUDSON.COM. APPLY FOR A GRANT AT YOUR LOCAL DEPARTMENT OF SOCIAL SERVICES OR OFFICE FOR THE AGING FOR SENIOR HOUSEHOLDS.

NET-METERED ACCOUNT STATUS

CURRENT GENERATION O KWH, REMAINING BALANCE O KWH





E200 Usage Continued

Electric	Meter # RAT	TE E200 (GENE	ERA	L SERVICE		
	Electric Service Charges 900	kWh at a	cost	of	\$412.39		
	Average Daily Cost fo	r Electric	\$14	.220	03		
	Amount of Electricity Used						
				1	cWh	KW	
Feb 05,201	.5 Present Reading (act.	.)		179	122	1254.97	
Jan 07,201	.5 Previous Reading(act.	.)		1782	222	1230.05	
	Electricity Used			9	900	24.9	
	Cost for Electricity Used	(for 1.0 m	nonth	s)			
	ENERGY DELIVERY CHARG	SES:					
	Basic Service Char	ge 1.0	Mos	9	84.00	84.00	
	Delivery Svc Chg	900	kWh	@	0.00540	4.86	
	MFC Admin Chg	900	kWh	@	0.00012	0.11	
	Transition Adj	900	kWh	@	0.00007	0.06	
	SBC/RPS Chgs	900	kWh	9	0.00850	7.65	
	Purch. Power Adj	900	kWh	@	0.00001	0.01	
	Misc. Charges	900	kWh	e -	-0.00358	-3.22	
	NYS Assessment	900	kWh	@	0.00156	1.40	
	RDM Chg	900	kWh	0	0.00386	3.47	
	Demand Delivery Charg	ges:					
	Delivery Svc Chg	24.9 KW	@	8.10	00 X 1.0	201.69	
	Total Delivery Chros	hamade and a same				300 03	
	The state of the s	handle and a second					- [-] - [-]



Remote Net-Metering

- A customer that owns or operates a farm or nonresidential photovoltaic electric generating equipment as defined in the Public Service Law is eligible for Remote Net- Metering.
- Customer will designate a "Host Account" (where the equipment is located) & "Satellite Accounts" (where net metering credits are to be applied). If there is excess net generation, the kWh are converted into dollars and are credited to the Host and Satellite accounts.
- Accounts must be held by the same customer and must be within the same load zone as determined by the NYISO.



Remote Net Metering Bill

Central Hudson

A FORTIS COMPANY

284 SOUTH AVENUE
POUGHKEEPSIE NY 12601-4839

www.CentralHudson.com

Account Number:

Service For:

REMOTE NET METERING

00000

30 30

Page 1 of 4

Questions About Your Bill? See the reverse side for explanations. For further help call a Customer Service Representative at 845-452-2700 or 1-800-527-2714. Our phone lines are busiest Monday and Tuesday mornings. We can better respond to your call if you avoid these times.

Your Bill Summary At A Gla	nce
Previous Billed Amount	\$0.00
Current Charges	\$126.89
Payments Since Last Bill - THANK YOU!	\$0.00
Total Amount Due Now	\$126.89
Current Billing Period	SEPTEMBER 2014
Late Charges Added After	Oct 23,2014
Next Scheduled Reading Date	Oct 28,2014

Payments and Adjustments

CURRENT SUMMARY BILL AMOUNT

SEP 29

\$126.89



Remote Net Metering Bill Cont'd-Satellite Account

		100 NON HE			
Ele	ctric Service Charges 1936 1	kWh at a cost	of \$340.22		
	Average Daily Cost for D	Electric \$5.48	74		
Amo	unt of Electricity Used				
Sep 17,2014	Present Reading (act.)			7449	
Jul 17,2014	Previous Reading(act.)			5513	
	Electricity Used(kWh)			1936	
Cos	t for Electricity Used (for	r 2.0 months)			
	ENERGY DELIVERY CHARGES	10 00000 000			
	Basic Service Charge	2.0 Mos @	24.00	48.00	
	Delivery Svc Chg	1936 kWh @	0.04963	96.08	
	MFC Admin Chg	1936 kWh @	0.00183	3.54	
	Transition Adj	1936 kWh @	0.00017	0.33	
	SBC/RPS Chgs	1936 kWh @	0.00801	15.51	
	Purch. Power Adj	1936 kWh @	-0.00194	-3.76	
	Misc. Charges	1936 kWh @	-0.00035	-0.68	
	NYS Assessment	1936 kWh @	0.00210	4.07	
	RDM Chg	1936 kWh @	-0.00283	-5.48	
	Total Delivery Chrgs			157.61	
	ENERGY SUPPLY CHARGES:				
	(You may choose another	supplier for	this part	of your service)	
	MFC Supply Chg	1936 kWh @	0.00207	4.01	
	Market Price	1936 kWh @	0.08724	168.90	
	Market Price Adj	1936 kWh @	0.00291	5.63	
	Total Supply Chrgs			178.54	
	NYS & Local Taxes and St	urcharges		1.07	
	TOTAL ELECTRICITY COST			\$340.22	

Remote Net Metering Bill Cont'd – Host Account

Electric	Meter#	RATE E230	GENERA	L SERVICE			
Electric Service Charges 0 kWh at a cost of \$75.84							
	Average Daily	Cost for Elect:	ric \$1.223	2			
1	Amount of Electricity	Used					
Sep 17,2014	Present Readin	g (act.)			82967		
Jul 17,2014	Previous Readi	ng(act.)			82967		
	Electricity Us	ed(kWh)			0		
Cost for Electricity Used (for 2.0 months)							
	Basic Servi	ce Charge 2.0	O Mos @	35.00	70.00		
	NYS & Local Ta	xes and Surcha	rges		0.14		
	Sales Tax		@	8.125%	5.70		
	TOTAL ELECTRIC	ITY COST			\$75.84		

Previous Generation Balance 0 kwh Current Generation (2615) kwh Generation Applied 2615 kwh Generation Balance 0 kwh



Remote Net Metering Bill Cont'd – Summary Page



Page 4 of 4

BILLING DETAIL

This is a summary bill to September 29,2014 for the accounts listed below.

ACCOUNT NO	SERVICE ADDRESS	AMOUNT DUE
	21 RD	340.22
	GENERATION CREDIT	-289.17
	21 RD BARN	75.84
	SUMMARY BILL AMOUNT	\$126.89



